
Substances Spiked in ENTACT Mixtures (n = 1269)

Correctly Identified 
Chemicals 

(n = 530 [+]; 237 [-])

Subset with Repeat 
Measures 

(n = 73 [+]; 10 [-])

Given Yobs

Given Yobs and 
Predicted IE

�𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶0.975CC

𝑌𝑌𝑜𝑜𝑜𝑜𝑜𝑜 ÷ �𝑅𝑅𝑅𝑅0.025 = �𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶0.975𝑅𝑅𝑅𝑅

𝑌𝑌𝑜𝑜𝑜𝑜𝑜𝑜 ÷ �𝑅𝑅𝑅𝑅0.025𝐼𝐼𝐼𝐼 = �𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶0.975𝐼𝐼𝐼𝐼

Inverse Prediction 
Using Calibration 

Curves (CC)

Inverse Prediction Using 
a Bounded Response 

Factor (RF)

Inverse Prediction Using 
Ionization Efficiency (IE) 

Estimation

Given Yobs
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